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Loading Tests of RC Frames Arranged Mechanical Splices within Beam-Column Joint 
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� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��� � �� HIROSHI  SHINJO 

� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��� ��� HIDEYUKI  KOSAKA 

� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��� ��� HISAYUKI  YAMANAKA 

� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��� ��� MASAHARU  TANIGAKI 

� � � � � � � � � � � � � � � � � � � � � � � � � � � � � ������ ��� ��� HIDEKAZU  HIRANO 

�����������������������������������������������

�������������������������������������������������

�������������������������������������������������

�������������������������������������������������

�������������������������

������������������������������������

The structural performance of the RC frame using normal strength materials, of which the beam 

reinforcement were connected with the mechanical splices within the beam-column joint, was compared 

by the loading tests with the conventional method of without connection. As a result, it was confirmed 

that hysteretic characteristics in this method depended on the shape of the mechanical splice, the load 

decrease after maximum load of this method was smaller than the conventional method in the range of 

large deformation, and higher strength concrete improved the hysteretic absorbed energy. 

Key Words: Beam-Column Joint, Pre-cast Concrete, Mechanical Splice, Bond, Bearing 
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